=

wave Seall cgst

Math 220 Sec 04 Quiz 1 Fall 2016

1. The cost of manufacturing an additional unit of a commodity is called

Ny a5\ anq 700 the
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2. In linear costvfunction C(x)=55x+700, 55x gives the
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- Express a revenue function R(x) for an item that sells for $200

Wnte the pr0f1t function P(x) that represents the productmn an@ of the two functions above‘l
Ty = BEN- COYE Z0w - (SEATN o)
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How many units must be sold in order to break even for rofit function you found?
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3. Sketch the following functions and state their domains:
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